Closing Tue: 9.6 ProducT Ry Lé?‘

Closing Thu: - 9.7(1),9.7(2) T e
Closing next Tue:  9.8,9.9 Mx\ L*74 10 (6 +TD 2%+ 2" (C”‘ +) ‘
Exam 1 |S Thur, Jan. 31St covers 93 - 99 Coyv\g\,qg NUH‘EEA.J T J
- ] - [ ) \\0
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Step 0: Rewrite powers and simplify.
Step 1: Product, Quotient or Chain?
Step 2: Use appropriate rule, in the H?Q = (2>< (ax +7r) D{Ox +ex" +jr)3
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9.8 The Second Derivative The second derivative represents the
The second derivative is the derlvatlve of rate at which the rate of the original

the derivative. We denote it quantity is changing.
y d (dy\ d?%y (rate of change of rate of change)
f7(x) or dx (a) = dx2 We will interpret more later, for now
| compute it.
Example:

Assume x in seconds and y in feet.
y=x3+2x Feet
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Example: Find f”(x)
(use only positive exponents in your
final answer) |
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Example: Revenue (in dollars) is given by @ p
R(x) = 70x + 0.4x3 M) =72 %
if you sell x items.
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